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BHel =ItRAe AF0|Et 2E - 25 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2

= 30,000
=S 9,000

308 AXIHHMSO0IA 39,000 130,000 291,000
= 30,000
== 9,000

01 XN BSELES 39,000 130,000 291,000
OdsssH gdat N3 39,000
= 30,000
& 9,000

ANZEE SR F8 YSEAH=1) 195,000 403,000 208,000
= 150,000
= 45,000

308 XtXIEMSO0IE 195,000 403,000 208,000
= 150,000
=S 45,000

01 XN BSELES 195,000 403,000 208,000
OZAN=Zd R /& Y==A 195,000
= 150,000
[ 45,000

AANEZSH FHIAIE(=21) 3,380,000 0 3,380,000
= 2,600,000
= 780,000

403 AXIEHHSAH=201H 3,380,000 0 3,380,000
= 2,600,000
= 780,000

01 AXISHHA=2EXE 3,380,000 0 3,380,000
OYA=22Hd FHIAE 3,380,000
= 2,600,000
== 780,000

AR OIHIZ2StR A ZAF XIR(=21) 52,000 0 52,000
= 40,000
S 12,000

308 AHAIEMSOIE 52,000 0 52,000
= 40,000
= 12,000

01 XN EES 52,000 0 52,000
OAE OlibI23ts 4t AL XIS 52,000
= 40,000
S 12,000

=Itzet 2 2 RAI| 27,487,890 26,534,464 953,426
= 18,219,500
< 9,268,390

CXERA 23| 4,982,800 3,766,300 1,216,500
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M 2etFA
M IR HAHR BE - FS (2L 2Z/23HM)
Chel: JIRE B4 2 SHHH| EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
VIR BFU(21) 20,925,180 20,519,964 405,216
= 17,079,560
= 3,845,620

403 MR HHMSAHE01H 20,925,180 20,519,964 405,216
= 17,079,560
< 3,845,620

01 A= 2L 20,925,180 20,519,964 405,216
O=IINE 74 2-FH| 20,925,180
= 17,079,560
= 3,845,620

HEME EFHHI(Z D) 1,184,910 1,726,800 A541,890
= 789,940
=S 394,970

403 MR SHHMSAH=01H 1,184,910 1,726,800 541,890
= 789,940
< 394,970

01 A= 2L 1,184,910 1,726,800 AB41,890
O EAE EFH] 1,184,910
= 789,940
= 3%4,970

W4 SEXNS F2 13K (=1) 395,000 521,400 126,400
= 350,000
= 45,000

308 XXM SOIA 395,000 521,400 126,400
= 350,000
= 45,000

01 XN B2 LS 395,000 521,400 A126,400
OfERL REXS L2 D&t 395,000
= 350,000
< 45,000

=JtRe EESAY 2= |4 A 2,873,240 2,574,929 298,311
= 1,827,000
Jl 32,732
[ 1,013,508

A 22 A KR (S1) 843,900 665,550 178,350
= 582,000
S 261,900

308 AHAIEHMSOIE 843,900 665,550 178,350
= 582,000
= 261,900

01 AX N B EES 843,900 665,550 178,350
OdH=IIFAE At 843,900
= 582,000
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A RN HAHE B - IS(SL2/28HH)
HRl SOIRA 2EAMY 2= - |4 X CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| & 261,900
A0t SHe= B - AR EEA(21) 384,250 378,450 5,800
= 265,000
= 119,250
308 XtXIEMSO0IE 384,250 378,450 5,800
= 265,000
=S 119,250
01 XN B2 LS 384,250 378,450 5,800
Ol - N VR4 HEAMY 384,250
= 265,000
< 119,250
It bk OFl ("IT)AIE (=) 855,500 656,850 198,650
= 590,000
= 265,500
308 AFAIEHMSOIH 855,500 656,850 198,650
= 590,000
= 265,500
01 RSN EES 855,500 656,850 198,650
O=It=4E OFH(F&1T) ALY 855,500
= 590,000
s 265,500
HSLAL 20IR4 A (R1D) 180,800 216,050 65,250
= 104,000
& 46,800
308 AHAIEHMSOIE 150,800 216,050 65,250
= 104,000
= 46,800
01 XN B EES 150,800 216,050 N65,250
OHSLAL =TI7 A EEAY 180,800
= 104,000
= 46,800
08 - B3Y ZE2AU(21) 131,950 147,900 15,950
= 91,000
[ 40,950
308 AXIHSO0IA 131,950 147,900 15,950
= 91,000
S 40,950
01 X HHBAEXS 131,950 147,900 15,950
OLE - Y EEMY 131,950
= 91,000
= 40,950
Nolse 28 T2 29(=212) 123,500 175,733 N52,233
= 95,000
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SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 28,500
308 AHXIEMSOIE 123,500 175,733 N52,233
= 95,000
= 28,500
01 XN B EES 123,500 175,733 N52,233
OAMAIRL 22 28 29 123,500
= 95,000
= 28,500
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O=0t=4k OICIOIOLE ALY 240,000
s A QISAL XI&(=21) 36,940 18,3% 18,544
Jl 32,732
= 4,208
308 AtXIEHMSOIE 36,940 18,39%6 18,544
Jl 32,732
= 4,208
01 AX N B2 LS 36,940 18,3% 18,544
Ot S A QI=HAL K& 36,940
Il 32,732
=S 4,208
IRsazel XA (=1) 100,000 100,000 0
= 100,000
308 XtXIEMSO0IE 100,000 100,000 0
= 100,000
01 HASHHBAEXS 100,000 100,000 0
O=Rmtr2e| XEAE 100,000
= 100,000
bR ESAY 2= - |4 NE 2,500 2,500
201 L=l 2,500 2,500
01 AtR2t2|HI 2,500 2,500
O=It=4 28 S2AMY 2= 29 2,500
A= FSH AUSA XA 3,900 0 3,900
308 AFAIEHMSOIE 3,900 3,900
01 AX N B EES 3,900 3,900
O4=2 FStHl AUSAA XIS 3,900
=)tr4 s 2 WS- 22 N2 228,365 363,725 125,360
= 92,900
Jl 51,000
= 84,465
N VR4S AI(Z2D) 66,300 31,200 35,100
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SN 2SR
M IR HAHR BE - FS (2L 2Z/23HM)
e =okRe 8 2 s - 82 KE EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 51,000
=S 15,300
308 XXM SOIA 66,300 31,200 35,100
Jl 51,000
== 15,300
01 XN BSELES 66,300 31,200 35,100
OXNS =ItRAWS ALY 66,300
) 51,000
& 15,300
dsns2 243 X (=10) 56,550 72,500 15,950
= 39,000
= 17,550
308 XXM SOIA 56,550 72,500 15,950
= 39,000
=S 17,550
01 XN B2 LES 56,550 72,500 15,950
ods+usd gdat N&H 56,550
= 39,000
& 17,550
Hansa 4y o B2 JAMHE(22) 22,880 0 22,880
= 17,600
= 5,280
403 AXIEHHSAH=201H 22,880 0 22,880
= 17,600
= 5,280
01 AR A =2 £ 22,880 0 22,880
Odsu=s2 28 2 24 NFA 22,880
= 17,600
== 5,280
SRS Mgt ESA 30,000 0 30,000
403 MR HHMSAHE01H 30,000 0 30,000
01 MXIHH A 22X 30,000 0 30,000
O IHHT M3 BB AL 30,000
SERA Hns2 2E0SLSA HIXI(21) 52,635 50,025 2,610
= 36,300
= 16,335
308 XXM SOIA 52,635 50,025 2,610
= 36,300
=S 16,335
01 XN BELES 52,635 50,025 2,610
ORE R WS Z230= WS AL BIX 52,635
= 36,300
[ 16,335

1
N
'_\
[0}

|




M 2etFA
A RN HAHN B - IS(SL2/28HH)
TPl RIS HS U THLIOH o2 2t (9l M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
=)tRet 25 @ HHHE Agk 25 2,390,934 2,210,918 180,016
= 370,29
Jl 1,186,119
= 834,520
204 THHEXAIE 2=(20) 501,300 548,149 N46,849
Jl 429,000
=S 72,300
403 AXIEHMSAH=0l 501,300 548,149 N46,849
Jl 429,000
== 72,300
01 A= 2L 501,300 548,149 A\46,849
O=Jtrat HHHXAIE 2= 501,300
) 429,000
& 72,300
2L THHETAIE 2X2el X (21) 202,525 226,841 N\24,316
7 179,452
= 23,073
308 XtXIEMSO0IE 202,525 226,841 N\24,316
J| 179,452
=S 23,073
01 XN BELES 202,525 226,841 A24,316
O=Jt74t MHSXAIE Sl N 202,525
Jl 179,452
< 23,073
20te4 O AHIA Xl 2 &8(32D) 750,966 745,078 5,888
Il 577,667
= 173,299
308 AHXIHMSO0IA 750,966 745,078 5,888
7l 577,667
= 173,299
01 RSN EES 750,966 745,078 5,888
O=Jt=ot HEH|I2 Xl & 28 750,966
Il 577,667
== 173,29
2tal ATHEEAAY 2E22|(21) 34,986 31,600 3,386
= 31,000
== 3,986
308 AHAIEHMSOIE 34,986 31,600 3,386
= 31,000
= 3,986
01 AXEH B2 LS 34,986 31,600 3,386
O=It=at HMEEAAE 22 34,986
= 31,000
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M 2etFA
M IR HAHR BE - FS (2L 2Z/23HM)
TPl RIS HS U THLIOH o2 2t (9l M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| & 3,986
HEAMNE LTHAIAE 2F(21) 198,000 0 198,000
= 132,000
= 66,000
403 TR SHMSAH=01 ™ 198,000 0 198,000
= 132,000
=S 66,000
01 AXISHHA =2 £ 198,000 0 198,000
OXSAHE ALY 2= 198,000
= 132,000
< 66,000
HEAME LTHAIAE SXE(=1) 310,942 283,050 27,892
= 207,29
= 103,647
308 AtAIEHMSOIE 310,942 283,050 27,892
= 207,29
= 103,647
01 AXEH B2 LS 310,942 283,050 27,892
OXSAtE HMAIAY RXE2+ 310,942
= 207,29
s 103,647
EetRA0 MAN 2=3H| 96,200 96,200 0
402 2IZtA=01d 96,200 96,200
01 QI X2 AL E (KM THE) 96,200 96,200
Olol|gt 2otz o St 2] AIAE 25 96,200
SXEsFA o NS 2 - MSAAE A= 269,215 280,000 10,785
202 04| 1,500 1,500 0
01 =LHOLI 1,500 1,500 0
O=SXEsts4t 3t Us 2Kl - &StAIAH
o5 gfFd 1,500
308 XXM SOIA 22,000 0 22,000
01 XN B2 LS 22,000 0 22,000
SAEsRA 3 A4S Al - MSAIAE
=Al2c 22,000
403 AXIEHMSA=Z0l1d 245,715 278,500 N32,785
01 MXIHHA 222 245,715 278,500 A32,785
O=X2374 ot IS Al - ASAAE
= 245,715
THEHTHAI AR A= - X2 26,800 0 26,800
403 XM SAH=01H 26,800 0 26,800
01 AR A =2 £ 26,800 0 26,800
Ofx MSAH HEY AZAE 2= 22,800
OBZE =5AH IIAIE FHl 4,000
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DA 2B
. HY2IAUI(23t34H) (O1EHDIE
=l JlI=3H| (Gt M)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
MY 2HHLI(23RAHH) (OIEHIIE 34,411 32,509 1,902
JlE23| 34,41 32,509 1,902
MY JI1=238| 34,411 32,509 1,902
201 B2 AY| 23,287 22,449 838
01 A=R2teld| 23,287 22,449 838
ORN2G AIR2teld] 23,287
202 0441 7,524 6,460 1,064
01 =2LHO4 ] 7,524 6,460 1,064
ORAN2Z 3L 7,524
203 PYRF=&H| 3,600 3,600
M EAM2IHRFA| 3,600 3,600
©202! 0|5t 300,000& =123 3,600
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